 XYZ manufactures artificial furs and sells to the retail market. The operations manager is trying to accomplish the inventory target of 6 days of supply on Jan, Feb, and Mar of the next year’s production plan. The following shows the incomplete Sales and Operations’ Planning Spreadsheet. Please complete the SOP plan and specifically answer the following questions. 
a. Please identify which month meets the target and which month does not.

b. What is the production plan for the next three months (Jan, Feb, and Mar)?

c. What is the current situation at XYZ?

Necessary information

i. Assume all days of supply calculations are based on a 20-day month (Sales’ working days).

ii. Units cost is 30$ per unit.

iii. Employee can produce 25 furs a day.

History





Plan





Sales





Oct





Nov





Dec





Jan





Feb





Mar





Forecast





(M$)





15.00





12.00





18.00





6.00





8.00





9.00





(1000 units)





500





400





____





200





____








 ____








Actual





(1000 units)





438





362





606





Diff: Month





____








____





____





Cumulative





____





____





Operations





Plan





(1000units)





500





400





600





--------





-------





-------





(# employ)





870





841





1263





-------





--------





-------





# Work Days/Mo.





23





19





19





20





21





23





Actual





(units)





564





409





727





Diff: Month





64





9





127





Cumulative





73





200



































Inventory





Plan





(1000 units)





100





100





100





--------





--------





--------





(M$)





3





3





3





--------





---------





  -------





Actual 





(1000 units)





126





-------





   -------





Days of Supply





5.75





-------





   -------


























--------








--------








--------








Target Inv:





Target DOS = ____








